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abby = m DE

f % 3 - %} gNN

Given that DE is parallelto — o, O A person 1.9 m tall casts a shadow 3.8 m long. At the same

AC,AD =68,DB=193,

and BC = 128, find the
length of BE to the nearest
ienth Gi a umL

 time a tree casts a shadow 18 m !ong Find the height Of the
free. .
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in &VWB W‘& ?& cm, VX =35¢em, &m:% VW =14 am, In ~

APQR, QR =20 cm, PR = 25 cm,and PQ = 10 cm. ﬁre mangies ;
. ?W‘{ zmd PQR smxﬁar? Haw éex }fmz know?

 Given ADEE~ &RPQ B = 101 in., DF = 0i in., DE - 8in.,
ﬁ ami RQ 0.5 f{ Yxm'i the feng&h of side ?{2
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